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Floss list for crosses

To calculate the size of a cross stitch design for a pattern that is 167 x 200 stitches, assuming
you are using 14-count fabric, here's the process:

Identify the Fabric Count: We'll use 14-count fabric, which means there are 14 stitches per
inch.

Calculate the Size in Inches:

For the width: Divide the number of stitches (167) by the fabric count (14). So, 167 stitches /
14 stitches per inch = approximately 11.93 inches.

For the height: Divide 200 stitches by 14 stitches per inch. So, 200 stitches / 14 stitches per
inch = approximately 14.29 inches.

Calculate the Size in Centimeters:

Convert inches to centimeters (1 inch = 2.54 cm).

For the width: 11.93 inches * 2.54 cm/inch = approximately 30.30 centimeters.
For the height: 14.29 inches * 2.54 cm/inch = approximately 36.27 centimeters.

Therefore, for a 167 x 200 stitch pattern on 14-count fabric, the design will approximately
measure 11.93 inches (30.30 cm) in width and 14.29 inches (36.27 cm) in height.

Remember to include extra fabric around the edges for framing or finishing your cross stitch

project.
N Symbol Number Name Stitches
1 (  ( DMCECRU  Ecru 436
2 [a . DMC 03 Tin - Medium 64
3 £ DMC 154 Grape - Very Dark 522
4 £ . DMC 169 Pewter - Light 422
5 | n DMC 310 Black 5133
6 E DMC 413 Pewter Gray - Dark 109
7 T |f| DMC422 Hazelnut Brown - Light 600
8 I DMC 435 Brown - Very Light 984
9 r . DMC 436 Tan 745
10 T‘ 1‘ DMC 472 Avocado Green - Ultra Light 283
11 S DMC 632 Desert Sand - Ultra Very Dark 1105
12 O { DMC746 Off White 681
13 X x DMC 772 Yellow Green - Very Light 414
14 ¥ ¥ DMC822 Beige Gray - Light 496
15  ofe ﬂ DMC 934 Avocado Green - Black 368
16 S DMC 935 Avocado Green - Dark 352

©2024 Cop

<

right csp.beehiiv.com

Produced using FlossCross

11/12


https://flosscross.com

An owl perched on a branch

N Symbol Number Name Stitches
17 ' u DMC 936 Avocado Green - Very Dark 498
18 = = DMCO951 Tawny - Light 454
19 // . DMC 3013 Khaki Green - Light 328
20 X . DMC 3045 Yellow Beige - Dark 288
21 . . DMC 3072 Beaver Gray - Very Light 78
2 m DMC 3371 Black Brown 960
23 m m  DMC 3743 Antique Violet - Very Light 73
24 B E DMC 3799 Pewter Gray - Very Dark 231
25 O . DMC 3828 Hazelnut Brown 457
26 % DMC 3857 Rosewood - Dark 1096
27 o o DMC 3866 Mocha - Ultra Very Light 86
28 |:| |:| DMCBLANK  White 94
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